
L4(3).21 (mod 13)

blocks defect matrix

G : 1 1 7× 3
2 1 7× 3
3 0 521 = χ2+, ϕ2+

4 0 391 = χ4,0, ϕ4,0

5 0 392 = χ4,1, ϕ4,1

6 0 522 = χ5,0, ϕ5,0

7 = 6 0 523 = χ5,1, ϕ5,1

8 0 1301 = χ6+, ϕ6+

9 0 4681 = χ9+, ϕ9+

10 0 5201 = χ11+, ϕ11+

11 0 2601 = χ13,0, ϕ13,0

12 0 2602 = χ13,1, ϕ13,1

13 0 3511 = χ14,0, ϕ14,0

14 0 3512 = χ14,1, ϕ14,1

15 0 3901 = χ15,0, ϕ15,0

16 0 3902 = χ15,1, ϕ15,1

17 0 4161 = χ16,0, ϕ16,0

18 0 4162 = χ16,1, ϕ16,1

19 0 4163 = χ17,0, ϕ17,0

20 = 19 0 4164 = χ17,1, ϕ17,1

21 0 4165 = χ18,0, ϕ18,0

22 0 4166 = χ18,1, ϕ18,1

23 = 21 0 4167 = χ19,0, ϕ19,0

24 = 22 0 4168 = χ19,1, ϕ19,1

25 0 4682 = χ20,0, ϕ20,0

26 = 25 0 4683 = χ20,1, ϕ20,1

27 0 11701 = χ21+, ϕ21+

28 0 7801 = χ28,0, ϕ24,0

29 0 7802 = χ28,1, ϕ24,1

30 0 10401 = χ29,0, ϕ25,0

31 = 30 0 10402 = χ29,1, ϕ25,1

2.G : 32 1 7× 3
33 1 7× 3
34 0 4169 = χ31+, ϕ27+

35 = 34 0 41610 = χ32+, ϕ28+

36 0 2603 = χ35,0, ϕ31,0

37 0 2604 = χ35,1, ϕ31,1

38 = 36 0 2605 = χ36,0, ϕ32,0

39 = 37 0 2606 = χ36,1, ϕ32,1

40 0 41611 = χ37,0, ϕ33,0



blocks defect matrix

41 0 41612 = χ37,1, ϕ33,1

42 = 40 0 41613 = χ38,0, ϕ34,0

43 = 41 0 41614 = χ38,1, ϕ34,1

44 0 41615 = χ39,0, ϕ35,0

45 0 41616 = χ39,1, ϕ35,1

46 = 44 0 41617 = χ40,0, ϕ36,0

47 = 45 0 41618 = χ40,1, ϕ36,1

48 0 5202 = χ42,0, ϕ37,0

49 = 48 0 5203 = χ42,1, ϕ37,1

50 0 10403 = χ43+, ϕ38+

51 0 7803 = χ49,0, ϕ42,0

52 0 7804 = χ49,1, ϕ42,1

53 = 51 0 7805 = χ50,0, ϕ43,0

54 = 52 0 7806 = χ50,1, ϕ43,1

Block 1: ϕ1,0 ϕ8,0 ϕ23,0

11 = χ1,0 1 . .
901 = χ8,0 1 1 .

6401 = χ23,0 . . 1
6403 = χ24,0 . . 1
6405 = χ25,0 . . 1
6407 = χ26,0 . . 1
7291 = χ27,0 . 1 1

ϕ1,0 = 11
ϕ8,0 = 891
ϕ23,0 = 6401

Block 2: ϕ1,1 ϕ8,1 ϕ23,1

12 = χ1,1 1 . .
902 = χ8,1 1 1 .

6402 = χ23,1 . . 1
6404 = χ24,1 . . 1
6406 = χ25,1 . . 1
6408 = χ26,1 . . 1
7292 = χ27,1 . 1 1

ϕ1,1 = 12
ϕ8,1 = 892
ϕ23,1 = 6402



Block 32: ϕ26,0 ϕ40,0 ϕ41,0

401 = χ30,0 1 . .
4801 = χ41,0 1 1 .
64010 = χ45,1 . . 1
64012 = χ46,1 . . 1
64014 = χ47,1 . . 1
64016 = χ48,1 . . 1
10801 = χ51,0 . 1 1

ϕ26,0 = 401
ϕ40,0 = 4401
ϕ41,0 = 6403

Block 33: ϕ26,1 ϕ40,1 ϕ41,1

402 = χ30,1 1 . .
4802 = χ41,1 1 1 .
6409 = χ45,0 . . 1
64011 = χ46,0 . . 1
64013 = χ47,0 . . 1
64015 = χ48,0 . . 1
10802 = χ51,1 . 1 1

ϕ26,1 = 402
ϕ40,1 = 4402
ϕ41,1 = 6404


